SUNDOO’

ADVANCED PRECISION INSTRUMENT

Electric Vertical Test Stand

SJV-10K

USER'S MANUAL

m M LS 2% A PR 2 A

WENZHOU SUNDOO INSTRUMENTS CO., LTD






3.Installation 0Of FOrce Gauge «« ««+ v vov ven v en et vin it it e et e e e
4.SPecifiCation .. oo wov coe tit i win s s e i e e e e s e e e e

8.Packing List

CONTENTS

W W W W N N — —



SUNDOO’

w B M &

SJV-10K Electric Vertical Test Stand

1.Function

SJV-10K Electric Vertical Test Stand, applied in tension and compression test, is assembled with
SN/SKN/SH/SP(2N-10kN) Series Force Gauge. The stand adopts double-column construction
with good stability, wide application range and easy operation. Furthermore, it has advantages of
non-polar speed adjustment, manual or automatic operation, suitable for fields of rubber &
plastic, textile, construction,complex material, wire&cables, auto accessories, engine and

scientific research, ect.
Note: When installing different force gauge, it should equip different backboard.

2.Structure

Small Backboard

Up Slide Carriage

Up Limit Ring L

Down Slide Carriage

Column

Down Limit Ring

Tighten Screw of
Up Slide Carriage

Lower Limit Screw

SKN Backboard

Limit Switch

Lower Limit Screw

Speed Knob

SUNDOO

BEIRALE

Power Lamp

Power Switch L —

Shift Button of

o -7

L BT 28 FT PR 2 S ) A

Manual and
Automatic Mode

410mm

Up Button

Stop Button

Down Button

o

260mm

1330mm

Power Socket

—




?UNDOO®

SJV-10K Electric Vertical Test Stand EoON 2

3.Installation of Force Gauge

Joint Bearing

IR i M6 Haxangular Nut _
\ O I
} M3 Screw ({ ==
=)

: Hi=il

Force Gauge

T

Outside Backboard

SKN Force Gauge
) St/

Picture | Installation of Picture 2 Installation of Picture 3 Installation of
SN/SH/SP(Sensor Inside) Force Gauge SKN Series Force Gauge SH/SP(1kN-5kN)

1. When installing SN/SH/SP(Sensor Inside) Force Gauge, take out 4 piecesof M3 screws from
toolbox, and through 4 deep hole of Small Backboard, tighten them into 4 installing hole on
force gauge(Picture 1);

2. When installing SKN Series Force Gauge, take off 4 pieces of M6 hexangular screws of back
cover, and backboard. also take off Small Backboard on test stand;through 4 hole of SKN
backboard, tighten 4 pieces of M6 screws into insalling hole of SKN Force Gauge by nut
(Picture 2);

3. When installing SH/SP(1kN-5kN) Force Gauge, it should equip the SJ-021 Outside
Backboard. Loosen the 4 pieces of M6 hexangular screws, take off the SKN Backboard, fix
the SJ-021 Backboard on the position of SKN Backboard by the 4 screws; Take one of the joint
axletree from sensor toolbox, and tighten the sensor through hole of backboard as showing in
picture(Picture 3).

4 .Specification

Max Capacity: 10KN

Stroke: 200mm

Gap between columns:: 215mm

Voltage: Single-phase 220V
Rate Current: 1.5A

Fuse of Main Circuit: 3A

Fuse of Main Circuit: 0.5A

Working Temperature: 20+10°C

Store Temperature: -27C~+70C
Relative Humidity: 15%~80% RH

Test Speed(Unit: mm/min):
Grading 1 2 3 4 5
Speed 24 48 72 96 120

When the testing speed is upper than or equivalent to Grading 3, accuracy is within +5%;
When the testing speed is lower than Grading 3 , accuracy is within £10% .

727



?ug"?xog SJV-10K Electric Vertical Test Stand

5.Attention

A. Please do not take Up or Lower Limit Screw at any time to prevent screw mandrel from getting

out or damaging to other accessories.
B. When needing to move UP Slide Carriage for appropriate space, please pay attention:
1. Loosen the tighten screw at two side of Up Slide Carriage, during which it should support
the slide carriage by hands to avoid dropping down.
2. The Up Slide Carriage will not upper than the top of column, and lower than Up Limit Screw.

6.0peration

Examine before Operation

A. Check Tighten Screw of Up Slide Carriage to be locked firmly;

B. Turn on the power switch, then the power lamp will be light.

C. Examine the stand whether there is abnormal sound when moving without load.

Manual Test

Choose the Manual mode by pressing Shift Button of Manual and Automatic Mode;Press Up or
Down button all along, the test stand will work; Loosen the button, the test stand will stop work
and finish test.

Automatic Test

Choose the Automatic mode by pressing Shift Button of Manual and Automatic Mode;Press up
or Down button once, the test stand will work; Press Stop button, the test stand will stop and
finish test.

7.Maintenance

A. Please keep the environment clean and prevent liquid and metal scraps from entering the
engine box, otherwise electric shock may happen and driving components may be
damaged.

B. Please keep the column and lower slide carriage hole clean.

C. Add some lubricant to screw mandrel and gear after period of time.

D. Please pull out power connector, and make the stand away from dust and moisture if it is
not used.

8.Packing List

Number Parts Name Quantity
1 SJV-10K Main Body 1
2 M10 Inner Hexagon Spanner 1
3 M6 Inner Hexagon Spanner 1
4 220V Power Wire 1
5 M10 Hold-down Nut 4
6 M12X25 Socket Head Screw 1
7 Manual 1
8 Qualification Certificate 1







Eug%og SJV-10K Electric Vertical Test Stand

CONTINUTATION

Dear user

We are pleased for your patronage of purchasing our SJV-10K Electric Vertical Test Stand.
Before using the equipment, please read the manual carefully and keep it well to give you
help when you can not learn it or there is something wrong with it.

Description in the manual is based on the newest products. Owing to improvement or
other changes, contents of manual may differ from practical situation. Our company will
reserve the right of recension at any moment. Please kindly forgive not to notify the
revised place one by one.

The copyright of this manual belongs to Wenzhou Sundoo Instrument Co., Ltd. Any
companies orindividuals have no right to copy or plagiarize part or whole contents of the

manual without permission of our company.

HE"R: BMUEMFARLA

MANUFACTURER: WENZHOU SUNDOO INSTRUMENTS CO.,LTD
k. RN S AR E X 10XERE

Add: Building E, No.10 High-tech Industrial Zone Wenzhou China

Zip: 325013

Tel: +86 577 88609905 88609730 Fax:+86 577 88390155
Http://www.sundoo.com E-mail:export@sundoo.com

Ver:1.03 Con:2011208



	1: 1A
	2: 1B
	3: 2A
	4: 2B
	5: 3A
	6: 3B
	7: 4A
	8: 4B

